
３８ － １５ ＝ 
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３８ － １５ 

subtract 

３８ － １５ 

subtract 

Because 

３－１＝２ 

the number of      

is  2. 

“o” means ● , “t” means × ,  “h” means ○ . 

Let’s subtract big numbers. 

There are numbers of 
both “t” and “o”. 

First, subtract the numbers of “o”. Because 

８－５＝３ 
the number of 
        is 3. 

Next, subtract the numbers of “t”. 
Good! 



３８ － １５ ＝ 

① ② 

③ ④ 

⑤ ⑥ 

６５ － ２３ ＝ ４９ － ３４ ＝ 

４５ － １２＝ ５７ － ３３ ＝ 

５８ － ２５ ＝ ６４ － ４２ ＝ 
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subtract 

subtract subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract subtract 

“o” means ● , “t” means × ,  “h” means ○ . 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

Good! 
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⑦ ⑧ ６２ － ２２ ＝ ８８ － ４５ ＝ 

⑨ ⑩ ５６ － ３４ ＝ ５５ － ２３ ＝ 

⑬ ⑭ ９７ － ７３ ＝ ６７ － ３５ ＝ 

⑮ ⑯ ９４ － ６１ ＝ ８９ － １７ ＝ 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract subtract 

subtract 

⑪ ⑫ ７８ － ６６ ＝ ８６ －５１ ＝ 

subtract 

subtract 

subtract 

subtract 

subtract 

subtract subtract 

Exercise  Write the answer in the          . 



ｄ     ｕ 

３８－１５ 

   ３８ 
－ １５ 

ｄ     ｕ 
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３８－１５ 

   ３８ 
－ １５ 

t     o ｄ     ｕ 

“o” means ● , “t” means × ,  “h” means ○ . 

Let’s write the numbers vertically as we did in addition. 

We subtract the 

number below from 

the number above. 

We subtract the numbers of “t” and “o” respectively.   

The “t” is ３－１ and 

the “o” is ８－５.   

Good! 
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３８－６ 

   ３８ 
－    

ｄ     ｕ 

３８－６ 

   ３８ 
－    

ｄ     ｕ 

３８－６ 

   ３８ 
－    

ｄ     ｕ 

Let’s calculate ３８－６ . Where should we write ６? 

6 does not have 

anything at the “t”. 

We write ６ at the “o”.  

We right subtraction align to the right as well. 

We can just subtract  the number below from 

the number above in the same way.  

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



４６－３ 

－ － 

① ６８－３ 

    

－       

    

－       

② 

    

－       

    

－       

３５－２ 

③ ５４－２０ 

    

－       

    

－       

④ 

    

－       

    

－       

４７－３０ 
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Exercise  Tick the correct answer. 

Example  Tick the correct answer. 

Good! 



ｄ       ｕ 

３８－１５ 

   ３  ８ 
－ １  ５ 

３８－１５ 

   ３  ８ 
－ １  ５ 

ｄ     ｕ ｄ       ｕ 

ｄ     ｕ 

① ２４－１２ 

   ２  ４  

－ １  ２  

ｄ     ｕ 

② ３４－２１ 

   ３  ４  

－ ２  １  

ｄ     ｕ 

③ ５９－５ 

   ５  ９  

－    ５  

ｄ     ｕ 

④ ３６－１３ 

   ３  ６  

－ １  ３  

          ｄ                    ｕ             ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 
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ｄ     ｕ 

Example  Write the answer in the          . 

Exercise  Write the answer in the          . 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



ｄ     ｕ 

⑤ ７５－２０ 

   ７  ５  

－ ２  ０  

ｄ     ｕ 

⑥ ６７－３４ 

   ６  ７  

－ ３  ４  

ｄ     ｕ 

⑦ ９６－７２ 

   ９  ６  

－ ７  ２  

ｄ     ｕ 

⑧ ６７－３５ 

   ６  ７  

－ ３  ５  

ｄ     ｕ 

⑨ ５６－４２ 

   ５  ６  

－ ４  ２  

ｄ     ｕ 

⑩ ２５－３ 

   ２  ５  

－    ３  

           ｄ                   ｕ            ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 
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Exercise  Write the answer in the          . 



ｄ     ｕ 

⑪ ６３－３３ 

   ６  ３  

－ ３  ３  

ｄ     ｕ 

⑫ ３２－２０ 

   ３  ２  

－ ２  ０  

ｄ     ｕ 

⑬ ４８－７ 

   ４  ８  

－    ７  

ｄ     ｕ 

⑭ ６５－１４ 

   ６  ５  

－ １  ４  

ｄ     ｕ 

⑮ ９８－３１ 

   ９  ８  

－ ３  １  

ｄ     ｕ 

⑯ ３８－２７ 

   ３  ８  

－ ２  ７  
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           ｄ                   ｕ            ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 

Exercise  Write the answer in the          . 



ｄ     ｕ 

６９－１５ 

   ６  ９  

－ １  ５  

ｄ     ｕ 

７６－４０ 

   ７  ６  

－ ４  ０  

ｄ     ｕ 

８８－５６ 

   ８  ８  

－ ５  ６  

ｄ     ｕ 

４８－４ 

   ４  ８  

－    ４  

ｄ     ｕ 

６７－１４ 

   ６  ７  

－ １  ４  

ｄ     ｕ 

３５－２ 

   ３  ５  

－    ２  
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⑰ ⑱ 

⑲ ⑳ 

㉑ ㉒ 

           ｄ                   ｕ            ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 

           ｄ                   ｕ            ｄ                   ｕ 

Exercise  Write the answer in the          . 
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① ６７－２５ 

ｄ     ｕ 

   ６  ７  

－ ２  ５  

③ ４５－１１ 

ｄ     ｕ 

   ４  ５  

－ １  １  

② ８９－３４ 

ｄ     ｕ 

   ８  ９  

－ ３  ４  

④ ７３－２３ 

ｄ     ｕ 

   ７  ３  

－ ２  ３  

⑥ ５８－３０ 

ｄ     ｕ 

   ５  ８  

－ ３  ０  

⑤ ４７－２５ 

ｄ     ｕ 

   ４  ７  

－ ２  ５  

３８－１５ 

   ３  ８ 
－ １  ５ 

ｄ     ｕ 

３８－１５ 

     ３  ８ 
－ １  ５ 

ｄ     ｕ 

⑧ ６８－５２ 

ｄ     ｕ 

   ６  ８  

－ ５  ２  

⑦ ７６－３ 

ｄ     ｕ 

   ７  ６  

－    ３  

Example  Write the answer in the          . 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 

Exercise  Write the answer in the          . 
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⑨ ５５－２０ 
ｄ     ｕ 

   ５  ５  
－ ２  ０  

⑬ ８６－１５ 
ｄ     ｕ 

   ８  ６  
－ １  ５  

⑭ ６８－３０ 
ｄ     ｕ 

   ６  ８  
－ ３  ０  

⑮ ６３－３２ 
ｄ     ｕ 

   ６  ３  
－ ３  ２  

⑫ 

ｄ     ｕ 

   ６  ９  
－    ４  

６９－４ ⑩ 

ｄ     ｕ 

   ８  ９  
－ ４  ６  

８９－４６ ⑪ 

ｄ     ｕ 

   ４  ７  
－ ２  ７  

４７－２７ 

⑯ 

ｄ     ｕ 

   ７  ９  
－ ２  ７  

７９－２７ 

⑱ 

ｄ     ｕ 

   ９  ６  
－ ６  ２  

９６－６２ ⑰ 

ｄ     ｕ 

   ６  ８  
－ ４  ３  

６８－４３ ⑲ ５８－６ 
ｄ     ｕ 

   ５  ８  
－    ６  

⑳ ９９－６６ 
ｄ     ｕ 

   ９  ９  
－ ６  ６  

㉑ ４４－２３ 
ｄ     ｕ 

   ４  ４  
－ ２  ３  

㉒ 

ｄ     ｕ 

   ７  ６  
－ ４  ５  

７６－４５ ㉔ 

ｄ     ｕ 

   ５  ９  
－ ４  ４  

５９－４４ ㉓ 

ｄ     ｕ 

   ６  ８  
－ ５  ３  

６８－５３ 

Exercise  Write the answer in the          . 
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３８－１５ 

        
－ １  ５ 

ｄ     ｕ 

３８－１５ 

        
－ １  ５ 

ｄ     ｕ 

ｄ     ｕ 

    

－ １  ２  

① ２４－１２ 
ｄ     ｕ 

  

－ ３  ５  

③ ５９－３５ 
ｄ     ｕ 

    

－ ２  １  

② ３４－２１ 
ｄ     ｕ 

        

－ １  ４  

④ ３６－１４ 

ｄ     ｕ 

  ４  ７  

－        

⑥ ４７－４ 
ｄ     ｕ 

  ７  ５  

－        

⑤ ７５－２２ 
ｄ     ｕ 

  ９  ３  

－        

⑧ ９３－５０ 
ｄ     ｕ 

  ８  ７  

－        

⑦ ８７－３５ 

Exercise  Write the answer in the          . 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 

Example  Write the answer in the          . 
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⑨ ５７－２１ 
ｄ     ｕ 

  
－ ２  １  

⑭ ７９－３０ 
ｄ     ｕ 

  ７  ９  
－        

⑮ ６５－５３ 
ｄ     ｕ 

  ６  ５  
－        

⑬ ４４－２２ 
ｄ     ｕ 

  ４  ４  
－        

⑪ ６４－３１ 
ｄ     ｕ 

  
－ ３ １  

⑫ ８５－１２ 
ｄ     ｕ 

  
－ １  ２  

⑩ ４６－２３ 
ｄ     ｕ 

  
－ ２  ３  

⑯ ８８－７ 
ｄ     ｕ 

  ８  ８  
－        

⑰ ７６－４５ 
ｄ     ｕ 

  
－ ４  ５  

㉒ ５８－２５ 
ｄ     ｕ 

  ５  ８  
－        

㉓ ８７－３ 
ｄ     ｕ 

  ８  ７  
－        

㉑ ８５－６０ 
 ｄ     ｕ 

  ８  ５ 
－        

⑲ ７３－４２ 
ｄ     ｕ 

  
－ ４  ２  

⑳ ４８－２７ 
ｄ     ｕ 

  
－ ２  ７  

⑱ ８５－６１ 
ｄ     ｕ 

  
－ ６  １  

㉔ ９９－４７ 
ｄ     ｕ 

  ９  ９  
－        

Exercise  Write the answer in the          . 



        
－       
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３８－１５ 
ｄ     ｕ 

３８－１５ 

        
－     

ｄ     ｕ 

① ５８－２５ 

ｄ     ｕ 

    

－        

② ４４－２０ 

ｄ     ｕ 

    

－        

③ ３８－２１ 

ｄ     ｕ 

    

－        

④ ８５－６１ 

ｄ     ｕ 

    

－        

⑤ ８７－３４ 

ｄ     ｕ 

    

－        

⑥ ７３－４２ 

ｄ     ｕ 

    

－        

⑦ ４６－３ 

ｄ     ｕ 

    

－        

⑧ ６９－４４ 

ｄ     ｕ 

    

－        

Exercise  Write the answer in the          . 

Example  Write the answer in the          . 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 
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⑨ ６８－１５ 
ｄ     ｕ 

  
－        

⑪ ８８－５ 
ｄ     ｕ 

  
－        

⑫ ５３－４０ 
ｄ     ｕ 

  
－        

⑩ ３８－２７ 
ｄ     ｕ 

  
－        

⑭ ７９－２７ 
ｄ     ｕ 

  
－        

⑮ ５９－３５ 
ｄ     ｕ 

  
－        

⑬ ６７－１４ 
ｄ     ｕ 

  
－        

⑰ ８６－４０ 
ｄ     ｕ 

  
－        

⑱ ３６－１４ 
ｄ     ｕ 

  
－        

⑯ ６７－４３ 
ｄ     ｕ 

  
－        

⑳ ８１－５１ 
ｄ     ｕ 

  
－        

㉑ ３５－２１ 
ｄ     ｕ 

  
－        

⑲ ９９－４７ 
ｄ     ｕ 

  
－        

㉓ ９５－７２ 
ｄ     ｕ 

  
－        

㉔ ９６－６２ 
ｄ     ｕ 

  
－        

㉒ ７７－６ 
ｄ     ｕ 

  
－        

Exercise  Write the answer in the          . 
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３４ － １８ 

３４ － １８ 

Let’s do a subtraction whose subtrahend is big. 

“o” means ● , “t” means × ,  “h” means ○ . 

The calculation at 

the “o” is ４－８. 

We can’t subtract. 

When we can’t subtract at the “o”, we borrow 10 from “t”. 

We can 

subtract 8 

from 10 which 

is borrowed. 



T15_S03 

＝ 

３４ － １８ 

３４ － １８ 

Then, subtract at the “o”. 

We subtract 8 from the 

borrowed 10. 

10－８＝２ 

We add the remainder 2 

and 4. ２＋４＝６ 

“t” becomes ２ー１. 

Let’s calculate at the “t”. The “t” of 34 after we 

borrow 10 is 20. 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 



３４－１８ 

  ３ ４ 
－ １ ８ 

ｄ     ｕ 
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３４－１８ 

   ３ ４ 
－ １ ８ 

ｄ     ｕ 

Let’s calculate ３４ー１８ by vertical method subtraction. 

We have to borrow 10 

from the “t”, because 

we can’t subtract 

 ４ー８ of “o”. 

We borrow 10 from “t”, so cross out the 3 of 34 and write 2 above.  

The number of “o” increases by 10, cross out 4 of 34 and write 14 above. 

The line which  

we use to cross 

out 3 and the 

number above 3 

means that 3 has 

changed to 2. 

“o” means ● , “t” means × ,  “h” means ○ . 
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１４－８＝６ 

３４－１８ 

  ３ ４ 
－ １ ８ 

t     o 

１４－８＝６ 

３４－１８ 

  ３ ４ 
－ １ ８ 

ｄ     ｕ 

２－１＝１ 

We don’t use 

the 3 and 4 

which we have 

crossed out. 

Let’s calculate  “o” first. 

Next, let’s calculate  “t”. 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 
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３４－１８ 

   ３  ４ 
－ １  ８ 

① ３２－１６ 

   ３  ２  

－ １  ６  

② ４５－２７ 

   ４  ５  

－ ２  ７  

③ ６３－１９ 

   ６  ３  

－ １  ９  

④ ３３－１７ 

   ３  ３  

－ １  ７  １３－７ 

⑤ ４３－１４ 

   ４  ３  

－ １  ４  １３－４ 

⑥ ５１－１８ 

   ５  １  

－ １  ８  １１－８ 

１２－６ １５－７ １３－９ 

２－１ ３－２ ５－１ 

２－１ ３－１ ４－１ 

２－１ 
１４－８ 

３４－１８ 

   ３  ４ 
－ １  ８ 

２－１ 
１４－８ 

Do NOT 
forget!! 

Example  Write the answer in the          .  
                      Cross out the number when it changes. 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 

Good! 
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⑩ ４１－２７ 

   ４  １  

－ ２  ７  

⑪ ４６－２９ 

   ４  ６  

－ ２  ９  

⑫ ６６－３７ 

   ６  ６  

－ ３  ７  

⑬ ７５－４６ 

   ７  ５  

－ ４  ６  

⑭ ９２－６８ 

   ９  ２  

－ ６  ８  

⑮ ５３－２８ 

   ５  ３  

－ ２  ８  

⑦ ７３－３９ 

   ７  ３  

－ ３  ９  

⑧ ３４－１５ 

   ３  ４  

－ １  ５  

⑨ ５５－３７ 

   ５  ５  

－ ３  ７  １３－９ １４－５ １５－７ 

６－３ ２－１ ４－３ 

１１－７ １６－９ １６－７ 

３－２ ３－２ ５－３ 

１５－６ １２－８ １３－８ 

６－４ ８－６ ４－２ 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 
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⑲ ７３－４８ 

   ７  ３  

－ ４  ８  

⑳ ８５－３９ 

   ８  ５  

－ ３  ９  

㉑ ７５－３８ 

   ７  ５  

－ ３  ８  

㉒ ４４－１９ 

   ４  ４  

－ １  ９  

㉓ ７２－５６ 

   ７  ２  

－ ５  ６  

㉔ ９４－３７ 

   ９  ４  

－ ３  ７  

⑯ ８１－４７ 

   ８  １  

－ ４  ７  

⑰ ６３－２８ 

   ６  ３  

－ ２  ８  

⑱ ６７－１９ 

   ６  ７  

－ １  ９  １１－７ １３－８ １７－９ 

７－４ ５－２ ５－１ 

１３－８ １５－９ １５－８ 

６－４ ７－３ ６－３ 

１４－９ １２－６ １４－７ 

３－１ ６－５ ８－３ 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 
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① ６４－１７ 

   ６  ４  

－ １  ７  

② ４５－２７ 

   ４  ５  

－ ２  ７  

③ ３２－１９ 

   ３  ２  

－ １  ９  

④ ４３－２８ 

   ４  ３  

－ ２  ８  

⑤ ７５－３９ 

   ７  ５  

－ ３  ９  

⑥ ６１－２７ 

   ６  １  

－ ２  ７  

⑦ ８３－５９ 

   ８  ３  

－ ５  ９  

⑧ ５４－３６ 

   ５  ４  

－ ３  ６  

３４－１８ 

   ３  ４ 
－ １  ８ 

３４－１８ 

   ３  ４ 
－ １  ８ 

Good! 

Do NOT 
forget!! 

Example  Write the answer in the          .  
                      Cross out the number when it changes. 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 
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⑩ ５７－３８ 

   ５  ７  

－ ３  ８  

⑪ ６５－３６ 

   ６  ５  

－ ３  ６  

⑬ ７５－４７ 

   ７  ５  

－ ４  ７  

⑭ ８３－５５ 

   ８  ３  

－ ５  ５  

⑮ ６７－１８ 

   ６  ７  

－ １  ８  

   ４  ５  

－ ２  ９  

⑫ ４５－２９ ⑨ ６６－４９ 

   ６  ６  

－ ４  ９  

⑲ ４５－２８ 

   ４  ５  

－ ２  ８  

⑳ ４４－２７ 

   ４  ４  

－ ２  ７  

⑯ ３４－１９ 

   ３  ４  

－ １  ９  

⑰ ５２－２９ 

   ５  ２  

－ ２  ９  

⑱ ６４－１７ 

   ６  ４  

－ １  ７  

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T15_S03 

① 

   ５  ４  

－ １  ７  

５４－１７ ② 

   ４  ５  

－ １  ６  

４５－１６ ③ 

   ３  ６  

－ １  ９  

３６－１９ ④ 

   ６  ３  

－ ２  ４  

６３－２４ 

⑤ 

   ５  ２  

－ ３  ８  

５２－３８ ⑥ 

   ３  ８  

－ １  ９  

３８－１９ ⑦ 

   ７  ３  

－ ２  ９  

７３－２９ ⑧ 

   ８  ５  

－ ３  ６  

８５－３６ 

３４－１８ 

   ３  ４ 
－ １  ８ 

３４－１８ 

   ３  ４ 
－ １  ８ 

Example  Solve. Cross out the number when it changes. 

Exercise  Solve. Cross out the number when it changes. 

Good! 

Do NOT 
forget!! 



   ７  ５  

－ ４  ９  

T15_S03 

⑨ 

   ５  ５  

－ ２  ８  

５５－２８ ⑩ 

   ６  ６  

－ １  ７  

６６－１７ ⑪ 

   ４  ６  

－ １  ８  

４６－１８ ⑫ ７５－４９ 

⑬ 

   ６  ４  

－ ４  ８  

６４－４８ ⑭ 

   ７  ２  

－ ４  ４  

７２－４４ ⑮ 

   ９  １  

－ ５  ６  

９１－５６ ⑯ ５４－３７ 

   ５  ４  

－ ３  ７  

⑰ ５３－２８ 

   ５  ３  

－ ２  ８  

⑱ ６５－２７ 

   ６  ５  

－ ２  ７  

⑲ ７３－４８ 

   ７  ３  

－ ４  ８  

⑳ ６５－３９ 

   ６  ５  

－ ３  ９  

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T15_S03 

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

① ② ③ 

④ ⑤ ⑥ 

３２－１６ ４５－２８ ６２－２６ 

４１－１６ ５３－２４ ４５－２７ 

－ 

３４－１８ ３４－１８ 

－ 
Good! 

Do NOT 
forget!! 

“o” means ● , “t” means × ,  “h” means ○ . 

Example  Write the answer in the          .  
                      Cross out the number when it changes. 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T15_S03 

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ６７－１９ ５６－３８ ７４－４８ 

６１－１５ ８５－３８ ６５－４７ 

５４－２８ ８２－５５ ７２－２３ 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T15_S03 

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

⑲ ⑳ ㉑ 

㉒ ㉓ ㉔ 

⑯ ⑰ ⑱ ５４－３８ ６７－４８ ３４－１７ 

５３－２９ ８４－１６ ７１－４４ 

４５－２７ ６３－２７ ９２－３４ 

 ｄ          ｕ 

 ｄ          ｕ 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T15_S04 

４２－３５ 

   ４ ２ 
－ ３ ５ 

ｄ     ｕ 

４２－３５ 

   ４ ２ 
－ ３ ５ 

ｄ     ｕ 

１２－５＝７ ３－３＝０ 

“o” means ● , “t” means × ,  “h” means ○ . 

Let’s solve ４２－３５. 

We borrow 10 from the 

“t” because we can’t 

subtract ２－５. 

The number of 

“t” became 0. 

This means 

42－35＝7. 

Good! 



T15_S04 

３４－６ 

   ３ ４ 
－   ６ 

ｄ     ｕ 

３４－６ 

   ３ ４ 
－   ６ 

ｄ     ｕ 

１４－６＝８ ２－０＝２ 

Let’s solve ３４－６. 

We borrow 10 from the 

“t” because we can’t 

subtract ４－６. 

The subtrahend, 6, 

is the number of 

“o”. 

The “u” does not 

have subtrahend, 

so ２－０＝２. 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 



T15_S04 

７４－５ 

－ － 

① ８３－６ 

    

－       

    

－       

② 

    

－       

    

－       

６１－３ 

③ ５１－４９ 

    

－       

    

－       

④ 

    

－       

    

－       

９４－８８ 

Exercise  Tick the correct answer. 

Example  Tick the correct answer. 

Good! 



   ７  ５  

－        

   ６  １  

－        

   ８  ３  

－        

   ４  ４  

－        

T15_S04 

① ６４－７ 

   ６  ４  

－        

② ４５－８ 

   ４  ５  

－        

③ ３２－９ 

   ３  ２  

－        

④ ５３－６ 

   ５  ３  

－        

⑤ ７５－９ ⑥ ６１－７ ⑦ ８３－９ ⑧ ４４－６ 

３４－６ 

   ３  ４ 
－     

３４－６ 

   ３  ４ 
－     

Example  Write the answer in the          .  
                      Cross out the number when it changes. 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 

Do NOT 
forget!! 

Good! 



T15_S04 

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

    

－       

① ② ③ 

④ ⑤ ⑥ 

３２－６ ４５－８ ６３－６ 

４１－３６ ５３－４４ ４５－３７ 

－ 

わすれ 
ないで 
！ 

３４－８ ３４－８ 

－ 

Exercise  Solve. Cross out the number when it changes. 

Example  Solve. Cross out the number when it changes. 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 

Do NOT 
forget!! 



T15_S04 

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

 ｄ          ｕ 

    

－       

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ６７－９ ５６－８ ７４－７ 

６１－５５ ８２－７５ ６５－５７ 

５４－４８ ６７－５９ ７２－６３ 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T15_S05 

６０－４２ 

   ６ ０ 
－ ４ ２ 

ｄ     ｕ 

６０－４２ 

   ６ ０ 
－ ４ ２ 

“o” means ● , “t” means × ,  “h” means ○ . 

Let’s solve ６０－４２. 

60 does not have 

number at the “0”. 

When the “o” is 0, 

we can borrow 10 

from the “t” and 

calculate in the 

same way. 

Good! 



T15_S05 

    

－       

    

－       

    

－       

    

－       

    

－       

    

－       

① ② ③ 

④ ⑤ ⑥ 

６０－４２ ６０－４２ 

－ 

５０－４８ ６０－３７ ７０－２２ 

３０－２ ４０－５ ９０－６ 

－ 

Example  Write the answer in the          .  
                      Cross out the number when it changes. 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 

Do NOT 
forget!! 



T15_S05 

    

－       

    

－       

    

－       

    

－       

    

－       

    

－       

    

－       

    

－       

    

－       

⑩ ５０－９ ⑫ ８０－２ ⑪ ６０－４ 

⑬ ７０－１８ ⑮ ７０－４４ ⑭ ５０－５ 

⑦ ３０－１９ ⑨ ６０－３６ ⑧ ７０－２７ 

Exercise  Write the answer in the          .  
                      Cross out the number when it changes. 



T16_S01 

１２５ 

１４５ 

１６５ 

１８５ 

１９５ 

１９９ 

“o” means ● , “t” means × ,  “h” means ○ . 

Let’s  write how to read the number. 

One hundred  

twenty five 

There are 

1           , 2     and 5      . 

125 is made of 

100 and 25. 

We read the numbers from 101 to 199 as 100 and something. 

We know how to read the numbers from 101 to 199 if we 

knowhow to read from 0 to 100. 

Good! 

 One  hundred  twenty  five 

One  hundred  fifty  five 

One  hundred  sixty  five 

One  hundred  sixty  five 

One  hundred  ninety  five 

One  hundred  ninety  nine 



１９９ 

T16_S01 

２      ０       ０ 

Let’s  look at how to write a number which is one 

more than 199. 
The number of       

“o” increases by one. 

The number of “t” becomes 10, so the number of “t” is 10. 

The number of  

at “t” increases 

 by 1. 

The number of        at “t” becomes 10 and carry to the “h”. 

200 is a number 

which has two    

at the “h”. 

“o” means ● , “t” means × ,  “h” means ○ . 



T16_S01 

１００ 

３００ 

２００ 

４００ 

６００ 

５００ 

７００ 

９００ 

８００ 

Let’s  look at numbers when the number of              at “h” increases by one. 

The number of 

“h” increases by 

one. 

The number of “h” is up to 9. 

“o” means ● , “t” means × ,  “h” means ○ . 



２０２ 

２００ ２ 

２０３ 

２００ ３ 

Let’s read 200. 

We read in the 
same way as 101. 

T16_S01 

２００ 

２０１ 

２００ １ 

Two hundred 

Two hundred one 

Two hundred one 

Two hundred two 

Two hundred two 

Two hundred three 

Two hundred three 

Two 

hundred 

We read 201 as 200 and 1. 

The numbers from 202 also increases by one. 



T16_S01 

３００ 

４００ 

６００ 

５００ 

７００ 

９００ 

８００ 

“o” means ● , “t” means × ,  “h” means ○ . 

Three hundred 

Four hundred 

Five hundred 

Six hundred 

Seven hundred 

Eight hundred 

Nine hundred 

Let’s read the number from 300 to 900. 



３０１ 

３００ １ 

３０２ 

３００ ２ 

The 
numbers 
from 101 
and 201 
also 
increased 
by one. 

The numbers from 301 also increases by one. 

T16_S01 

We read some hundreds 

and one same as we read 

101 like 100 and 1 or 900 

like 900 and 1. 

Let’s  look at 

numbers  which ends 

with  ‘1’ from 999. 

１ 

１０１ 

２０１ 

３０１ 

４０１ 

５０１ 

６０１ 

７０１ 

８０１ 

９０１ 

Three hundred one 

Three hundred one 

Three hundred two 

Three hundred two 

Two  hundred one 

Three  hundred  one 

Four  hundred one 

Five  hundred one 

Six  hundred one 

Seven  hundred one 

Eight  hundred one 

Nine hundred one 

One  hundred one 

one 



９９９ 

T16_S01 

The number of        at    
o   increases by one in 
999. So move       s to     
t  

1       0       0       0 

1000 is a number which has 

         below    th   . There is  

0 below    h  ,    t   and   o   . 

The number of        at   

o   increases by one. So 

We move  them to    t  .   

 

The number of            below   h   becomes 10, so we make a new place of   th   . 

Let’s look at how to write the number more than 999. 

We read 1000 as ‘thousand’ 

and call new place ‘th’ as the 

thousand digit. 

“o” means ● , “t” means × ,  “h” means ○ . 

One  thousand  

th 



T16_S01 

① ② 

③ ④ 

⑤ ⑥ 

. Example  Count the          and write the number in           . 

Exercise  Count the          and write the number in           . 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



Exercise  Write the answer in the          . 

T16_S01 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 



Exercise  Write the answer in the          . 

T16_S01 

⑰ ⑱ 

⑲ ⑳ 

㉑ ㉒ 

㉓ ㉔ 

㉕ 



２００ 

２０１ 

４０２ 

６０３ 

３０４ 

５３５ 

８７６ 

９２７ 

３６８ 

４３９ 

Example  Write how to read the numbers in          . 

Exercise  Write how to read the numbers in          . 

T16_S01 

１００ 

１０１ Good! 

One  hundred  

One  hundred  one  



 

 

 

 

 

 

 

 

 

 

 

４１０ 

３８１ 

６４２ 

５３３ 

７９４ 

９７５ 

２６６ 

４２７ 

８１８ 

９５９ 

１０００ 

T16_S01 

Exercise  Write how to read the numbers in          . 



T16_S02 

７１ ＞ ６６ 

６６ ＜ ７１ 

３４     ２５ 

１８     ５６ 

３４     ２５ 

１８     ５６ 

＞ 

＜ 

Let me introduce signs that show which number is greater. 

71 is greater than 66. 

66 is less than 71. 

The number on the open side is greater. 

Let’s write ＞ or ＜ to show which is greater. 
We compare 
34 and 25 and 
18 and 56, and 
decide the signs. 

34 is greater 
than 25 and 18 
is less than 56. 

Good! 



T16_S02 

３４     ２５ ３４     ２５ ＞ 

① ②  ７５    ４９  ６５    ５６ 

③ ④  ９１    ８８  ７４    ６９ 

⑤ ⑥ １０３    ９８ １１７    １２３ 

⑦ ⑧ １９６    ２０５ ３２１    ２８５ 

⑨ ⑩ ２９８    ６０１ ４７３    ５６３ 

⑪ ⑫ ７９８    ７８９ ８８９    ８９２ 

⑬ ⑭ ５５５    ４９９ ７５８    ６９２ 

Example  Write the sign of ＞ or ＜  in the          . 

Exercise  Write the sign of ＞ or ＜  in the          . 
Good! 



T16_S02 

What is the number indicated by ↓? 
Fill in the missing number. 

There are 100 units between 100 and 200. 
So, 1 unit means 1. 

We sometimes change the length of vertical lines, so 
that we can easily find out the numbers we want. 
In this number line, the vertical line which shows 100 
and 200 are the longest. 

Good! 



T16_S02 

What is the number indicated by ↓? 
Fill in the missing number. 

We can find out by checking the length of vertical lines. 

In this number line, the second longest line are there 
every 10 units, which means 110, 120, 130, 140, 150, 
160, 170, 180, 190, 210, 220. 
 
 
The third longest lines are there every 5 units, which 
means 105，115，125，135，145，155，165，175，185，
195，205，215. 
 
 
The shortest lines are there every 1 unit.  
 
 

Good! 



T16_S02 

What is the number indicated by ↓? 
Fill in the missing number. 

There are 10 units between 100 and 200. 
So, 1 unit means 10. 

↓ indicates the second longest line. 
This line shows 50 units. 

The shortest lines show 10 units. 

There is no line which shows 1 unit. 

Good! 



T16_S02 

① 

② 

③ 

④ 

⑤ 

Example  Fill in the missing number.  

Exercise  Fill in the missing number.  

Good! 



Exercise  Fill in the missing number.  

⑥ 

⑦ 

⑧ 

⑨ 

⑩ 

T16_S02 

⑪ 



T16_S02 

① 

② 

③ 

④ 

３６０ 

４４５ 

６３４ 

８７２ 

３２０ 

Example  Tick in the         which indicates the number.  

Exercise  Tick in the         which indicates the number.  

Good! 



⑤                                  is 70 more than 823. 

④                                  is 300 more than 570.  

③                                 is 600 more than 250. 

②                                 is 40 more than 356.  

①                                  is 70 more than 120.  

T16_S02 

Example  Write the answer in the          . If you don’t know the answer, 
                      think it using number line. 

1)                              is 20 more than 180.  

Exercise  Write the answer in the          .  

Good! 



①                                   is 40 less than 750.  

Exercise  Write the answer in the          .  

T16_S02 

②                                  is 70 less than 395.  

③                                    is 500 less than 850. 

④                                    is 200 less than 420.  

⑤                                 is 80 less than 198. 

Example  Write the answer in the          . If you don’t know the 
answer, think it using number line.  
 

                                    is 20 less than 180.  
Good! 



⑤ 782  is                                    more than 712.  

② 250  is                                    more than 180.  

① 570  is                                    more than 490.  

Exercise  Write the answer in the          .  

T16_S02 

③ 880  is                                    more than 480.  

④ 950  is                                    more than 630.  

Example  Write the answer in the          . If you don’t know the 
answer, think it using number line.  

150  is                                   more than 110.  Good! 



⑤ 718  is                                    less than 788. 

③ 630  is                                    less than 770. 

② 220  is                                    less than 430. 

① 310  is                                    less than 360. 

Exercise  Write the answer in the          .  

T16_S02 

④ 160  is                                    less than 910. 

Example  Write the answer in the          . If you don’t know the 
answer, think it using number line.  

 110  is                                    less than 150.  Good! 



The number which is made of 44    10    is                            . 

Example  Write the answer in the    . 

Exercise  Write the answer in the          .  

T16_S02 

③ The number which is made of 82    10    is                            . 

① The number which is made of 29   10    is                           .               

② The number which is made of 51   10    is                           . 

① The number which is made of 23   10    is  

④ 

⑤ The number which is made of 75    10    is                           . 

⑥ The number which is made of 98    10    is                           . 

Good! 



The number which is made of 3  100  , 8  10   and 2    1    is                               .  

The number which is made of 8  100  , 2  10   and 4    1    is                              .  

The number which is made of 5  100  , 8  10   and 3    1    is                              .  

The number which is made of 6  100  , 4  10   and 8    1    is                              .  

The number which is made of 4  100  , 3  10   and 0    1    is                              .  

The number which is made of 2  100  , 0  10   and 2    1    is                              .  

Example  Write the answer in the    . 

Exercise  Write the answer in the          .  

T16_S02 

① 

② 

③ 

④ 

⑤ 

⑥ 

The number which is made of 1  100  , 3  10   and 5    1    is  

Good! 



Example  Write the answer in the    . 

Exercise  Write the answer in the          .  

T16_S02 

① The number which is made of                        10    is 260. 

② The number which is made of                        10    is 410. 

The number which is made of                       10    is 180   

③ The number which is made of                        10    is 750. 

④ The number which is made of                        10    is 660. 

⑤ The number which is made of                        10    is 820. 

⑥ The number which is made of                               10    is 1000. 

Good! 



Example  Write the answer in the    . 

Exercise  Write the answer in the          .  

T16_S02 

The number which is made of        100 ,                  10     

 

and                  1     is  654. 

① The number which is made of        100 ,                 10     

 

and                  1     is  162. 

② The number which is made of        100 ,                  10     

 

and                  1     is  487. 

③ The number which is made of        100 ,                  10     

 

and                  1     is  762. 

Good! 



T16_S02 

Exercise  Write the answer in the          .  

④ The number which is made of        100 ,                  10     

 

and                  1     is  833. 

⑤ The number which is made of        100 ,                  10     
 

and                  1     is  352. 

⑥ The number which is made of        100 ,                  10     
 

and                  1     is  961. 

⑦ The number which is made of        100 ,                  10     
 

and                  1     is  250. 

⑧ The number which is made of        100 ,                  10     
 

and                  1     is  408. 



T17_S01 

５０ ＋ ７０ 

It is 12 sets of 10. 

＝  １２ 

5 + 7 is the same 

calculation as we 

add 50 + 70 

without 0. 

５０ ＋ ７０＝ 

５         ７ 

５   ＋    ７ ＝  １２ 

Sets of 10 

５０ ＋ ７０ 

５   ＋     ７ 

Let’s  add numbers which are 0 at the “o”.  

How many sets do each number have?  

50 consists of 5 sets of 10. 

70 consists of 7 sets of 10.   

If we add the sets of 10, How many sets of 10 are there? 
It is 12 sets of 10. 

It is easy to calculate if we think them as sets of 10. 

Sets of 10 

5 + 7 is the same 

calculation as we 

add 50 + 70 

without 0. 

Good! 



T17_S01 

① ② ８０＋４０＝ ４０＋６０＝ 

５０ ＋ ７０＝ 

There are 8 + 4 sets of 10 There are 4 + 6 sets of 10 

③ ④ ５０＋９０＝ ６０＋６０＝ 

There are 5 + 9 sets of 10 There are 6 + 6 sets of 10 

⑤ ⑥ ６０＋８０＝ ９０＋６０＝ 

There are 6 + 8 sets of 10 There are 9 + 6 sets of 10 

⑦ ⑧ ７０＋４０＝ ７０＋７０＝ 

There are 7 + 4 sets of 10 There are 7 + 7 sets of 10 

⑨ ⑩ ９０＋２０＝ ８０＋５０＝ 

There are 9 + 2 sets of 10 There are 8 + 5 sets of 10 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

There are  5 + 7 sets of 10. Good! 



Let’s  add numbers which are 0 at the “t” and “o”.  How many sets do each number have?  

300 consists of 3 sets of 100.  

400 consists of 4 sets of 100.   

T17_S01 

３００ ＋ ４００ 

If we add the sets of 100, How many sets of 100 are there? It is 7 sets of 100. 

＝  ７ 

It is easy to calculate if we think them as sets of 100. 
3 + 4 is the same 

calculation as we 

add 300 + 400 

without 00. 

Sets of 100 

３          ４ 

Sets of 100 

３００ ＋ ４００ 

３   ＋      ４ 

＝  ７ 

３００＋４００＝ 

３  ＋     ４ 

Good! 



T17_S01 

① ② 400＋200＝ 500＋300＝ 

300＋400＝ 

There are  3 + 4 sets of 100. 

③ ④ 100＋500＝ 500＋500＝ 

⑤ ⑥ 800＋200＝ 700＋100＝ 

⑦ ⑧ 600＋200＝ 900＋100＝ 

⑨ ⑩ 300＋500＝ 400＋300＝ 

Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

There are 4 + 2 sets of 100 There are 5 + 3 sets of 100 

There are 1 + 5 sets of 100 There are 5 + 5 sets of 100 

There are 8 + 2 sets of 100 There are 7 + 1 sets of 100 

There are 6 + 2 sets of 100 There are 9 + 1 sets of 100 

There are 3 + 5 sets of 100 There are 4 + 3 sets of 100 



５０ ＋ ７０＝ 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T17_S01 

５０＋８０＝ 

200＋600＝ 

500＋500＝ 

６０＋５０＝ 

９０＋６０＝ 

400＋200＝ 

700＋200＝ 

４０＋７０＝ 

３０＋７０＝ 

300＋500＝ 

200＋400＝ 

７０＋７０＝ 

４０＋８０＝ 

600＋100＝ 

300＋300＝ 

６０＋８０＝ 

Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  



Let’s  add numbers which are 0 at the “o”.  

How many sets of 10 do each number have?  
350 consists of 35 sets of 10. 

20 consists of 2 sets of 10.   

T17_S02 

３５０ ＋ ２０ 

If we add the sets of 10, How many sets of 10 are there? We add 50 from 350 

and 20 without 0. 

＝  ３７ 

It is easy to calculate if we think them as sets of 10. 35 + 2 is the same 

calculation as we add 

350 + 20 without 0. 

Sets of 10 ＝  ３７ 

Sets of 10 ３５   ＋     ２ 

35 sets of 10 2 sets of 10 

３５０ ＋ ２０ 
35 sets of 10 2 sets of 10 

３５   ＋     ２ 

３５０ ＋ ２０＝ 

35 sets of 10 2 sets of 10 
Good! 



43 sets 
of 10 

T17_S02 

① ② 430＋50＝ 240＋30＝ 

③ ④ 520＋60＝ 10＋260＝ 

⑤ ⑥ 340＋40＝ 400＋70＝ 

⑦ ⑧ 20＋670＝ 80＋900＝ 

⑨ ⑩ 310＋70＝ 50＋630＝ 

３５０ ＋ ２０＝ 

35 sets of 10 2 sets of 10 

10の束が 
43個 

10の束が 
５個 

Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

5 sets  
of 10 

24 sets 
of 10 

3 sets  
of 10 

52 sets 
of 10 

6 sets  
of 10 

1 sets  
of 10 

26 sets 
of 10 

34 sets 
of 10 

4 sets  
of 10 

40 sets 
 of 10 

7 sets  
of 10 

2 sets  
of 10 

67 sets 
of 10 

8 sets  
of 10 

90 sets 
of 10 

31 sets 
of 10 

7 sets  
of 10 

5 sets  
of 10 

63 sets 
of 10 



３５０ ＋ ２０＝ 

① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T17_S02 

350＋40＝ 

20＋600＝ 

500＋50＝ 

660＋20＝ 

900＋60＝ 

430＋20＝ 

700＋80＝ 

40＋350＝ 

230＋50＝ 

30＋500＝ 

20＋400＝ 

470＋10＝ 

400＋80＝ 

670＋20＝ 

90＋300＝ 

60＋220＝ 

Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  



120 consists of 12 sets of 10. 

30 consists of 3 sets of 10.   

T17_S03 

１２０ － ３０ 

If we subtract the sets of 10, How many sets of 10 are there? 
It is 9 sets of 10. 

It is easy to calculate if we think them as sets of 10. 
12 – 3 is the same 

calculation as we 

subtract 120 – 30 

without 0. 

Sets of 10 

１２０ － ３０ 

＝   ９ Sets of 10 １２   －     ３ 

１２            ３ 

１２０ － ３０＝ 

＝   ９ １２   －     ３ 

Let’s  subtract numbers which are 0 at the “o”.  

How many sets of 10 do each number have?  

Good! 



T17_S03 

① ② 140－80＝ 130－60＝ 

120 － 30＝ 

There are  12 – 3 sets of 10. 

③ ④ 150－90＝ 160－70＝ 

⑤ ⑥ 170－80＝ 180－90＝ 

⑦ ⑧ 120－70＝ 110－20＝ 

⑨ ⑩ 130－90＝ 140－50＝ 

Good! 

There are 14 - 8 sets of 10 There are 13 – 6 sets of 10 

There are 15 – 9 sets of 10 There are 16 – 7 sets of 10 

There are 17 – 8 sets of 10 There are 18 – 9 sets of 10 

There are 12 – 7 sets of 10 There are 11 – 2 sets of 10 

There are 13 - 9 sets of 10 There are 14 – 5 sets of 10 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  



T17_S03 

＝  ２ 

５          ３ 

５００ － ３００ 

５   －      ３ 

＝  ２ 

５００－３００＝ 

５  －     ３ 

Good! 

Let’s  subtract numbers which are 0 at the “t” and “o”.  How many sets do each 

number have?  

500 consists of 5 sets of 100.  

300 consists of 3 sets of 100.   

If we subtract the sets of 100, How many sets of 100 are 

there? 

It is easy to calculate if we think them as sets of 100. 

Sets of 100 

Sets of 100 

5 – 3 is the same 

calculation as we 

add 500 – 300 

without 00. 

It is 2 sets of 100. 

５００ － ３００ 

It is easy to calculate if we think them as sets of 100. 
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① ② 400－200＝ 500－300＝ 

500－300＝ 
There are  12 – 3 sets of 10. 

There are 4 - 2 sets of 100 

③ ④ 800－500＝ 700－400＝ 

⑤ ⑥ 600－200＝ 900－700＝ 

⑦ ⑧ 1000－200＝ 900－500＝ 

⑨ ⑩ 1000－700＝ 800－600＝ 

Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  

There are 5 - 3 sets of 100 

There are 8 - 5 sets of 100 There are 7 - 4 sets of 100 

There are 6 - 2 sets of 100 There are 9 - 7 sets of 100 

There are 10 - 2 sets of 100 There are 9 - 5 sets of 100 

There are 10 - 7 sets of 100 There are 8 - 6 sets of 100 



① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T17_S03 

150－80＝ 

700－600＝ 

1000－200＝ 

120－50＝ 

130－40＝ 

400－200＝ 

1000－800＝ 

140－90＝ 

130－70＝ 

800－500＝ 

700－400＝ 

110－60＝ 

160－80＝ 

600－100＝ 

900－700＝ 

120－40＝ 

120 － 30＝ Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  



Let’s  subtract numbers which are 0 at the “o”.  

How many sets of 10 do each number have?  
360 consists of 36 sets of 10. 

40 consists of 4 sets of 10.   

T17_S04 

３６０ － ４０ 

If we subtract the sets of 10, How many sets of 10 are there? We subtract 4 

from 6. 

＝  ３２ 

It is easy to calculate if we think them as sets of 10. 
36 – 4 is the same 

calculation as we 

subtract 360 - 40 

without 0. 

Sets of 10 ＝  ３２ 

Sets of 10 ３６   －     ４ 

36 sets of 10 4 sets of 10 

３６０ － ４０ 

36 sets of 10 4 sets of 10 

３６   －     ４ 

３６０ － ４０＝ 

36 sets of 10 4 sets of 10 Good! 



T17_S04 

① ② 460－50＝ 240－30＝ 

③ ④ 570－60＝ 280－60＝ 

⑤ ⑥ 340－40＝ 470－70＝ 

⑦ ⑧ 670－20＝ 980－80＝ 

⑨ ⑩ 390－70＝ 550－30＝ 

36 sets of 10 4 sets of 10 

10の束が 
43個 

10の束が 
５個 

３６０ － ４０＝ 
Good! 

46 sets 
of 10 

5 sets  
of 10 

24 sets 
of 10 

3 sets  
of 10 

57 sets 
of 10 

6 sets  
of 10 

28 sets 
of 10 

6 sets  
of 10 

34 sets 
of 10 

4 sets  
of 10 

47 sets 
of 10 

7 sets  
of 10 

67 sets 
of 10 

2 sets  
of 10 

98 sets 
of 10 

8 sets  
of 10 

39 sets 
of 10 

7 sets  
of 10 

55 sets 
of 10 

3 sets  
of 10 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  



① ② 

③ ④ 

⑤ ⑥ 

⑦ ⑧ 

⑨ ⑩ 

⑪ ⑫ 

⑬ ⑭ 

⑮ ⑯ 

T17_S04 

280－60＝ 

270－60＝ 

660－60＝ 

660－20＝ 

980－60＝ 

430－20＝ 

770－60＝ 

670－40＝ 

390－50＝ 

360－50＝ 

440－40＝ 

470－10＝ 

490－80＝ 

670－20＝ 

990－90＝ 

160－20＝ 

３６０ － ４０＝ Good! 

Example  Write the answer in the          .  

Exercise  Write the answer in the          .  



７２＋６３ 

   ７ ２ 

＋ ６ ３ 

h      t        o h        t        o 

T18_S01 

７２＋６３ 

“o” means ● , “t” means × ,  “h” means ○ . 

   ７ ２ 

＋ ６ ３ 

h      t        o h        t         o  

７＋６＝１３ 

Let’s  add numbers whose sum of the “t” is more than 9. First, we add 

the numbers of “o”. 2 + 3 = 5. How about  the sum of “t”? 

13 of the “t” means that there are 13 sets of 10 which is equal to 130. 

Carry 100 to the “h”.   

“o” is 5 by 2+3. 

 “t” is 3 of 13. So, the 

answer is 135. 



７２＋６３ 

T18_S01 

７２＋６３ 

   ７ ２ 

＋ ６ ３ 
２＋３＝ ５ 

   ７ ２ 

＋ ６ ３ 

h      t        o 

２＋３＝ ５ ７＋６＝１ ３ 

h      t        o 

Let’s solve by vertical addition.  

The addition of 
“t” is 2+3=5. 

Next, calculate the “t”. 

We write the 1 of 13 
at the “h”. 

We get 7+6=13 
by adding at the 
“t”. 

“o” means ● , “t” means × ,  “h” means ○ . 



T18_S01 

７２＋６３ 

   ７  ２ 
＋ ６  ３ 

７２＋６３ 

   ７  ２ 
＋ ６  ３ 

① 

   ８  ５  

＋ ５  ４  

８５＋５４ ② 

   ６  ２  

＋ ８  ３  

６２＋８３ ③ 

   ８  ４  

＋ ７  １  

８４＋７１ ④ 

   １  ２  

＋ ９  ５  

１２＋９５ 

⑤ 

   ５  ３  

＋ ７  ２  

５３＋７２ ⑥ 

   ９  ４  

＋ ３  ５  

９４＋３５ ⑦ 

   ５  １  

＋ ８  １  

５１＋８１ ⑧ 

   ９  ７  

＋ ４  ０  

９７＋４０ 

Example  Solve. 

Exercise  Solve. 

Good! 



Exercise  Solve. 
T18_S01 

⑨ 

   ７  ３  

＋ ９  ５  

７３＋９５ ⑩ 

   ５  ３  

＋ ６  ３  

５３＋６３ ⑪ 

   ９  １  

＋ ６  ５  

９１＋６５ ⑫ 

   ７  ５  

＋ ４  １  

７５＋４１ 

⑬ 

   ８  ６  

＋ ３  １  

８６＋３１ ⑭ 

   ７  ６  

＋ ４  ２  

７６＋４２ ⑮ 

   ２  ４  

＋ ８  ４  

２４＋８４ ⑯ ９２＋７３ 

   ９  ２  

＋ ７  ３  

⑰ ３７＋８２ 

   ３  ７  

＋ ８  ２  

⑱ ３６＋９２ 

   ３  ６  

＋ ９  ２  

⑲ ８２＋８６ 

   ８  ２  

＋ ８  ６  

⑳ ７３＋５２ 

   ７  ３  

＋ ５  ２  

㉑ ３３＋９５ 

   ３  ３  

＋ ９  ５  

㉒ ９５＋２３ 

   ９  ５  

＋ ２  ３  

㉓ ６３＋７５ 

   ６  ３  

＋ ７  ５  

㉔ ３４＋７２ 

   ３  ４  

＋ ７  ２  



    

＋       

    

＋       

    

＋       

T18_S01 

７２＋６３ 

        
＋    

h      t       o 

７２＋６３ 

        
＋    

① ② ③ 

④ 

３５＋９４ ７４＋９１ ４２＋７５ 

８１＋２２ ７７＋６０ ９５＋５２ 

h     t       o 

    

＋       

    

＋       

    

＋       

⑤ ⑥ 

Do NOT 
forget!! 

Example  Solve. Make sure to write “+”. 

Exercise  Solve. Make sure to write “+”. 

Good! 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

Example  Solve. Make sure to write “+”. 

T18_S01 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ３７＋７１ ５５＋８１ ６０＋６３ 

６４＋４１ ７６＋３２ ２５＋９２ 

８１＋５８ ９３＋５５ ７０＋８９ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



T18_S01 

７２＋６３ 
ｃ      ｄ       ｕ 

７２＋６３ 

        
＋    

① ② ③ 

④ 

８２＋６３ ４９＋８０ ５４＋８５ 

３６＋８２ ９２＋３７ ８３＋４４ 

ｃ     ｄ       ｕ 

h       t          o 

⑤ ⑥ 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

Exercise  Solve. Make sure to write “+” and the horizontal line. 

Example  Solve. Make sure to write “+” and the horizontal line. 

Good! 

h       t          o h       t           o 

h       t           o h       t           o h       t            o 

Do NOT 
forget!! 



Exercise   Solve. Make sure to write “+” and the horizontal line. 

T18_S01 

８４＋３５ ６７＋４１ ９２＋１７ 

５３＋５４ ３４＋７０ ８２＋５４ 

９１＋２７ ６２＋５５ ２８＋９０ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



   ８ ４ 
＋ ３ ９ 

T18_S02 

   ８ ４ 
＋ ３ ９ 

８４＋３９ 

４＋９＝ １ ３ 

We write 1 of 13 at 

top of  the ‘’t’’ and  

3 of 13 at answer 

place of  the ‘’o’’ .  

Solve. 

８４＋３９ 

４＋９＝ １３ 

Next, calculate the “t” and ‘’o’’. 

We write 1 of 10 

at  the ‘’h’’ and 0 

of 10  at the ‘’t’’. h      t       o 

h      t       o 

１＋８＋３＝１ ２ 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 



Example  Solve. 

T18_S02 

８４＋３９ 

   ８  ４ 
＋ ３  ９ 

８４＋３９ 

   ８  ４ 
＋ ３  ９ 

① 

   ７  ９  

＋ ５  ４  

７９＋５４ ② 

   ８  ６  

＋ ７  ６  

８６＋７６ ③ 

   ２  ５  

＋ ９  ８  

２５＋９８ ④ 

   ９  ５  

＋ ６  ９  

９５＋６９ 

⑤ 

   ３  ７  

＋ ９  ５  

３７＋９５ ⑥ 

   ８  ６  

＋ ５  ７  

８６＋５７ ⑦ 

   ８  ８  

＋ ５  ３  

８８＋５３ ⑧ 

   ９  ７  

＋ ６  ９  

９７＋６９ 

Exercise  Solve. 

Good! 



Exercise  Solve. 
T18_S02 

⑨ 

   ６  ９  

＋ ８  ７  

６９＋８７ ⑩ 

   ７  ６  

＋ ５  ４  

７６＋５４ ⑪ 

   ２  ７  

＋ ９  ４  

２７＋９４ ⑫ 

   ４  ６  

＋ ９  ６  

４６＋９６ 

⑬ 

   ９  ８  

＋ ４  ２  

９８＋４２ ⑭ 

   ６  ９  

＋ ７  ８  

６９＋７８ ⑮ 

   ７  ６  

＋ ８  ５  

７６＋８５ ⑯ 

   ３  ９  

＋ ８  ５  

３９＋８５ 

⑰ 

   ６  ７  

＋ ６  ４  

６７＋６４ ⑱ 

   ８  ７  

＋ ９  ４  

８７＋９４ ⑲ 

   ６  ８  

＋ ７  ９  

６８＋７９ ⑳ 

   ５  ８  

＋ ９  ８  

５８＋９８ 



    

＋       

    

＋       

    

＋       

T18_S02 

８４＋３９ 

        
＋    

Exercise  Solve. Make sure to write “+”. 

８４＋３９ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

５６＋８９ ６７＋８５ ３８＋９８ 

４８＋７５ ９４＋７７ ５２＋７９ 

h     t      o h     t      o 

    

＋       

 h      t           o 

    

＋       

    

＋       

Example  Solve. Make sure to write “+”. 

Good! 

Do NOT 
forget!! 

 h      t           o  h       t            o 

 h       t            o  h      t           o  h       t            o 

“o” means ● , “t” means × ,  “h” means ○ . 



    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

Exercise   Solve. Make sure to write “+”. 

T18_S02 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １６＋９７ ４６＋９８ ４６＋８４ 

６１＋５９ ７８＋３５ ８５＋４７ 

３４＋９８ ７７＋５５ ５９＋６３ 

 h       t            o  h       t            o  h       t            o 

 h       t            o  h       t            o  h       t            o 

 h       t            o  h       t            o  h       t            o 



Example  Solve. Make sure to write “+”. 

T18_S02 

８４＋３９ 

Exercise  Solve. Make sure to write “+”. 

８４＋３９ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

４７＋７５ ３７＋８６ ７５＋６８ 

２８＋９５ ６６＋８４ ６３＋５９ 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

Good! 

 h       t            o  h       t            o 

 h       t            o  h       t            o 

 h       t            o  h       t            o  h       t            o 

 h       t            o 

Do NOT 
forget!! 

“o” means ● , “t” means × ,  “h” means ○ . 



Exercise  Solve. Make sure to write “+”. 

T18_S02 

８４＋３８ ８７＋４８ ３４＋８７ 

７３＋５９ ３４＋９７ ６８＋５４ 

４７＋７７ ６８＋６７ ７７＋３６ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

 h       t            o  h       t            o  h       t            o 

 h       t            o  h       t            o  h       t            o 

 h       t            o  h       t            o  h       t            o 



   ７ ４ 
＋ ２ ９ 

T18_S03 

   ７ ４ 
＋ ２ ９ 

７４＋２９ 

４＋９＝ １ ３ 

We write 1 of 13 at 

top of  the ‘’t’’ and  

3 of 13 at answer 

place of  the ‘’o’’ .  

Solve. 

 

７４＋２９ 

４＋９＝ １３ 

Next, calculate the ‘‘t’’. 

We write 1 of 10 

at  the ‘’h’’ and 0 

of 10  at the ‘’t’’. h      t       o 

h      t        o 

１＋７＋２＝１ ０ 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 



Example  Solve. 

Exercise   Solve 

T18_S03 

７４＋２９ 

   ７  ４ 
＋ ２  ９ 

７４＋２９ 

   ７  ４ 
＋ ２  ９ 

① 

   ６  ９  

＋ ３  ４  

６９＋３４ ② 

   ８  ６  

＋ １  ７  

８６＋１７ ③ 

   ２  ５  

＋ ７  ８  

２５＋７８ ④ 

   ３  ５  

＋ ６  ９  

３５＋６９ 

⑤ 

   ９  ７  

＋    ５  

９７＋５ ⑥ 

      ６  

＋ ９  ５  

６＋９５ ⑦ 

   ９  ８  

＋    ３  

９８＋３ ⑧ 

      ７  

＋ ９  ９  

７＋９９ 

Good! 



Exercise   Solve. 
T18_S03 

⑨ 

   ６  ９  

＋ ３  ７  

６９＋３７ ⑩ 

   ９  ６  

＋    ６  

９６＋６ ⑪ 

   ２  ７  

＋ ７  ４  

２７＋７４ ⑫ 

      ６  

＋ ９  ８  

６＋９８ 

⑬ 

   ５  ８  

＋ ４  ３  

５８＋４３ ⑭ 

      ９  

＋ ９  ８  

９＋９８ ⑮ 

   １  ６  

＋ ８  ５  

１６＋８５ ⑯ 

   ９  ５  

＋    ９  

９５＋９ 

⑰ 

   ６  ７  

＋ ３  ４  

６７＋３４ ⑱ 

   ８  ７  

＋ １  ４  

８７＋１４ ⑲ 

   ２  ８  

＋ ７  ９  

２８＋７９ ⑳ 

   ５  ８  

＋ ４  ８  

５８＋４８ 



    

＋       

    

＋       

    

＋       

Example  Solve. Make sure to write “+”. 

T18_S03 

７４＋２９ 

        
＋    

Exercise   Solve. Make sure to write “+”. 

７４＋２９ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

６９＋３５ １７＋８５ ３８＋６８ 

４８＋５５ ９４＋７ ５＋９９ 

h    t      o h    t      o 

    

＋       

 h      t          o 

    

＋       

    

＋       

Good! 

Do NOT 
forget!! 

h       t           o h       t           o 

h       t           o h       t            o h       t            o 



    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

T18_S03 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １６＋８７ ４６＋５８ ３６＋６７ 

９５＋７ ９８＋５ ９６＋７ 

４＋９８ ７＋９５ ９＋９３ 

Exercise  Solve. Make sure to write “+”. 

h       t            o h       t           o h       t           o 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o 



Example  Solve. Make sure to write “+”. 

T18_S03 

７４＋２９ 

Exercise  Solve. Make sure to write “+”. 

７４＋２９ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

８５＋１７ ２５＋７８ ６６＋３７ 

４６＋５９ ７＋９８ ９５＋６ 

h     t        o h     t        o 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

Good! 

Do NOT 
forget!! 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



T18_S03 

８４＋１８ ５７＋４８ ３４＋６７ 

４＋９９ ９４＋９ ８＋９４ 

２７＋７５ ６８＋３７ ６７＋３６ 

Exercise  Solve. Make sure to write “+”. 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

h       t           o h       t           o 

h       t           o h       t           o 

h       t           o 

h       t           o h       t           o h       t           o 

h       t           o 



２  ７ ４ 
＋      ９ 

T18_S04 

２ ７ ４ 
＋      ９ 

２７４＋９ 

４＋９＝ １ ３ 

We write 1 of 13 

at top of “t” and  

3 of 13  at  answer 

place of “o”.  

Solve. 

２７４＋９ 

４＋９＝ １３ 

Solve the calculation at “t” and “o”. 

We write 1+ 7 = 

8 at “t” and  

same number 

‘2’ at “h”. 

h      t       o 

h      t       o 

１＋７＝ ８ 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 



４  ２ ７ 
＋    ３ ８ 

T18_S04 

４ ２ ７ 
＋    ３ ８ 

４２７＋３８ 

７＋８＝ １ ５ 

We write 1 of 15 

at top of “t” and  

5 of 15  at  answer 

place of “o”.  

Solve. 

４２７＋３８ 

７＋８＝ １５ 

Next, calculate the ‘’t’’ and ‘’o’’ . 
We get 1+2+3=6 

by adding at the 

“t” and write 4 

at the ‘’h’’. 

h      t       o 

h      t       o 

１＋２＋３＝ ６ 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 



３ ６ ９ 
＋       ４ 

２ ５ ６ 
＋       ７ 

５ １ ４ 
＋       ８ 

１ ３ ５ 
＋       ９ 

７ ２ ８ 
＋  ４ ５ 

Example    Solve. 

Exercise  Solve. 

T18_S04 

４２７＋３８ 

４  ２  ７ 
＋      ３  ８ 

４２７＋３８ 

４  ２  ７ 
＋      ３  ８ 

① ３６９＋４ ② ２５６＋７ ③ ５１４＋８ ④ １３５＋９ 

⑤ ７２８＋４５ ⑥ ６４２＋１９ ⑦ ５１７＋６３ ⑧ ２６５＋２８ 

６ ４ ２ 
＋  １ ９ 

５ １ ７ 
＋  ６ ３ 

２ ６ ５ 
＋  ２ ８ 

Good! 



８ ２ ５ 
＋  ４ ６ 

２ １ ８ 
＋  ７ ９ 

６ ３ ９ 
＋  ３ ７ 

４ ２ ８ 
＋  ２ ４ 

６ １ ３ 
＋  ４ ８ 

９ ３ ５ 
＋  ２ ７ 

５ ４ ８ 
＋  ３ ３ 

２ ７ ６ 
＋  １ ６ 

４ １ ６ 
＋       ８ 

３ ４ ２ 
＋       ９ 

５ ６ ７ 
＋       ５ 

６ ８ ７ 
＋       ４ 

Exercise  Solve. 
T18_S04 

⑨ ６３９＋３７ ⑩ ２７６＋１６ ⑪ ４２８＋２４ ⑫ ６１３＋４８ 

⑬ ８２５＋４６ ⑭ ９３５＋２７ ⑮ ４１６＋８ ⑯ ３４２＋９ 

⑰ ５６７＋５ ⑱ ６８７＋４ ⑲ ２１８＋７９ ⑳ ５４８＋３３ 



Example    Solve. Make sure to write “+”. 

T18_S04 

２７４＋９ 

        
＋    

Exercise   Solve. Make sure to write “+”. 

２７４＋９ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

４３６＋７ ５６８＋９ ３８５＋６ 

７１９＋４４ １６７＋１９ ６３７＋２８ 

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 

h       t           o h       t           o 

Good! 

Do NOT 
forget!! 



    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

    

＋       

Exercise   Solve. Make sure to write “+”. 

T18_S04 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ８６７＋４ １３２＋９ ４６３＋８ 

５１８＋４６ ７４３＋２９ ６２７＋５４ 

９２６＋５８ ４３９＋２２ ８５７＋１９ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



Example   Solve. Make sure to write “+” and the horizontal line. 

T18_S04 

２７４＋９ 

Exercise  Solve. Make sure to write “+” and the horizontal line. 

２７４＋９ 

        
＋    

① ② ③ 

④ ⑤ ⑥ 

３１５＋６ ２５６＋７ ５８２＋９ 

３２６＋２８ ７１５＋３８ ２５８＋２５ 

 ｃ      ｄ          ｕ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o 

h       t           o h       t           o 

Good! 

“o” means ● , “t” means × ,  “h” means ○ . 

Do NOT 
forget!! 



Exercise  Solve. Make sure to write “+” and the horizontal line. 

T18_S04 

２４６＋３４ ７４７＋３６ １５６＋１７ 

５２４＋７ ３７４＋８ ２６８＋９ 

３２７＋５ ４６８＋４ ５６７＋６ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 



The calculation at 

the “t” is ２－７. 

We can’t subtract. 

T18_S05 

When we can’t subtract at the “t”, we borrow 100 from “h”. 

１２５ － ７３ 

Let’s subtract big numbers at the ‘’t’’. 

11
5 

１２５ － ７３ 

We can subtract 70 
from 100 which is 
borrowed. 

First, we calculate at the ‘’o’’. 

１２５ － ７３ 
The calculation at the 

“o” is  ５－３=２. 

h 

h 

h 

“o” means ● , “t” means × ,  “h” means ○ . 



T18_S05 

＝ 

Let’s calculate at the ‘’t’’ 

１２５ － ７３ We subtract 70 

from the borrowed 

100. 

We add the 

remainder 30 and 

20. 20+30=50.  

“h” becomes  1 - 1 = 0. 

１２５ － ７３ 
Good! 

h 

h 

h 

“o” means ● , “t” means × ,  “h” means ○ . 



First, we calculate 

at the ‘’o’’. 

T18_S05 

１２５－７３ 

When we can’t subtract at the “t”, we borrow 100 from “h”.  

Do not forget the line which  we use to cross out the number at ‘the ’h’’ and ‘’t’’.   

The “t” becomes  

 12－7 = 5. 

１ ２ ５ 
－    ７ ３ 

Let’s calculate 125-73 by vertical method subtraction. 

１２５－７３ 
1
1
7 

５－３＝ ２ 

１２－７＝５ 
１ ２ ５ 

－    ７ ３ 

h         t          o 

h         t         o h 

“o” means ● , “t” means × ,  “h” means ○ . 



１ ３ ９ 
－    ６  ４ 

１ ４ ５ 
－    ８  ３ 

１ ２ ４ 
－    ４ １ 

１ ３ ６ 
－    ５  ０ 

１ １ ７ 
－   ４ ６ 

Example  Solve.  
                   Cross out the number when it changes. 

Exercise  Solve.  
                   Cross out the number when it changes. 

T18_S05 

１２５－７３ １２５－７３ 

① １３９－６４ ② １４５－８３ ③ １２４－４１ ④ １３６－５０ 

⑤ １１７－４６ ⑥ １６８－７４ ⑦ １７９－９８ ⑧ １４８－８２ 

１  ２  ５ 
－      ７  ３ 

１ ６ ８ 
－  ７ ４ 

１ ７ ９ 
－  ９ ８ 

１ ４ ８ 
－  ８ ２ 

１  ２  ５ 
－      ７  ３ 

Do NOT 
forget!! 

Good! 



１ ４ ６ 
－  ９ ３ 

１ ２ ８ 
－  ４ ６ 

１ ２ ９ 
－  ５ ８ 

１ １ ４ 
－  ７ ２ 

１ ６ ５ 
－  ７ ４ 

１ ５ ６ 
－  ８ ２ 

１ ６ ３ 
－  ９ ３ 

１ ５ ７ 
－  ８ ７ 

１ １ ７ 
－  ８ ５ 

１ ２ ３ 
－  ６ ３ 

１ １ ６ 
－  ４ ６ 

１ ７ ２ 
－  ８ １ 

Exercise  Solve.  
                   Cross out the number when it changes. 

T18_S05 

⑨ １２９－５８ ⑩ １５７－８７ ⑪ １１４－７２ ⑫ １６５－７４ 

⑬ １４６－９３ ⑭ １５６－８２ ⑮ １１７－８５ ⑯ １２３－６３ 

⑰ １１６－４６ ⑱ １７２－８１ ⑲ １２８－４６ ⑳ １６３－９２ 



Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S05 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１３６－７２ １６８－７１ １８５－９３ 

１１９－４４ １２７－３５ １３７－６７ 

１２５－７３ １２５－７３ 

  

－           
 

－           

Do NOT 
forget!! 

Do NOT 
forget!! 

h         t         o h         t         o h         t         o 

h         t         o h         t         o h         t         o 

“o” means ● , “t” means × ,  “h” means ○ . 



    

       

    

       

    

       

    

       

    

       

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S05 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １６７－８４ １３２－９０ １６３－８２ 

１１８－４６ １４６－７５ １２７－５４ 

１２６－４４ １３９－５２ １５９－７９ 

h         t         o 

h         t         o h         t         o h         t         o 

h         t         o h         t         o h         t         o 



Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S05 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１１５－６４ １５６－７２ １８２－９1 

１２６－６５ １３７－９３ １５８－８５ 

１２５－７３ １２５－７３ 

Do NOT 
forget!! 

 
－           

Do NOT 
forget!! 

 h        t        o  h        t        o  h        t        o 

 h        t        o  h        t        o  h        t        o 



Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S05 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １４６－６４ １１７－７３ １８６－９２ 

１２４－７１ １５４－８０ １２５－４３ 

１３８－５６ １４５－７０ １６７－８６ 

 h        t        o  h        t        o  h        t        o 

 h        t        o 

 h        t        o  h        t        o 

 h        t        o 

 h        t        o 

 h        t        o 



We can’t subtract 9 from 3 

at the ‘’o’’. So we borrow 

from 10 at the ‘’t’’ and 

calculate. 

T18_S06 

１５３－６９ 

The number at the ‘’t’’ become 4. We can’t subtract 6 from 4, so borrow 100 

from the ‘’h’’ and calculate. 

We write 1 at the top 

of ‘’t’’ next to 4. It’s 

become 14.  

１ ５ ３ 
－    ６ ９ 

Let’s calculate. The number which subtracted at the ‘’o’’ and ‘’t’’ are bigger. 

１５３－６９ 

１３－９＝ ４ 

１４－６＝８ 
１ ５ ３ 

－    ６ ９ 
We borrowed 2 

times in the one 

subtraction.  

h         t         o 

h         t         o 

“o” means ● , “t” means × ,  “h” means ○ . 



１ ３ ２ 
－    ７  ６ 

１ ４ ５ 
－    ８  ７ 

１ １ ４ 
－    ４ ６ 

１ ３ ６ 
－    ４ ９ 

１ １ ７ 
－   ４ ８ 

Example   Solve.  
       Cross out the number when it changes. 

Exercise   Solve.  
                   Cross out the number when it changes. 
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１５３－６９ １５３－６９ 

① １３２－７６ ② １４５－８７ ③ １１４－４６ ④ １３６－４９ 

⑤ １１７－４８ ⑥ １６８－７９ ⑦ １７５－９８ ⑧ １４１－８２ 

１ ６ ８ 
－  ７ ９ 

１ ７ ５ 
－  ９ ８ 

１ ４ １ 
－  ８ ２ 

１  ５  ３ 
－      ６  ９ 

１  ５  ３ 
－      ６  ９ 

Good! 

Do NOT 
forget!! 



１ ４ ６ 
－  ９ ８ 

１ ２ ８ 
－  ４ ９ 

１ ２ ０ 
－  ５ ８ 

１ １ ４ 
－  ７ ６ 

１ ６ ５ 
－  ７ ９ 

１ ５ ６ 
－  ８ ７ 

１ ６ ３ 
－  ９ ５ 

１ ５ ２ 
－  ５ ７ 

１ １ ７ 
－  ８ ８ 

１ ６ ３ 
－  ６ ９ 

１ １ ６ 
－  ４ ８ 

１ ７ ２ 
－  ８ ４ 

Exercise   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑨ １２０－５８ ⑩ １５２－５７ ⑪ １１４－７６ ⑫ １６５－７９ 

⑬ １４６－９８ ⑭ １５６－８７ ⑮ １１７－８８ ⑯ １６３－６９ 

⑰ １１６－４８ ⑱ １７２－８４ ⑲ １２８－４９ ⑳ １６３－９５ 



Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S06 

Exercise   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１３１－７２ １６３－７５ １８２－９８ 

１１５－４９ １２０－３５ １３４－６７ 

    

       

    

       

    

       

    

       

    

       

    

       

１５３－６９ １５３－６９ 

  

－           
 

－           

Do NOT 
forget!! 

Do NOT 
forget!! 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



    

       

    

       

    

       

Exercise   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １６７－８８ １３０－９４ １６２－８３ 

１１８－４９ １４０－７５ １２６－５７ 

１２５－４８ １３０－５２ １５４－７９ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S06 

Exercise   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１１５－６６ １５０－７２ １８２－９３ 

１２６－６８ １１５－３７ １５８－８９ 

１５３－６９ １５３－６９ 

 
－           

Do NOT 
forget!! 

Do NOT 
forget!! 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



Exercise   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S06 

１４１－９４ １４０－７３ １８６－９７ 

１２４－７５ １２４－８７ １６８－９９ 

１２０－５６ １６１－７４ １６７－７８ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

h       t           o h       t           o h       t           o 

h       t           o 

h       t           o 

h       t           o 

h       t           o 

h       t           o 

h       t           o 



T18_S07 

１０５ － ７８ 

１０５ － ７８ 

“o” means ● , “t” means × ,  “h” means ○ . 

Let’s  do subtraction which the “t” of minuend is 0. We can’t subtract 

because at the “o”  5-8, 

and at the “t” 0-7.  

Now we can borrow 10 

from the “t” to “o”. 

First, we calculate “o”. 105 does not have 

anything at the “t”, so borrow 100 from “h”. 

By borrowing 10, “o” 

becomes 15, so we can 

subtract 8 from 15. 



T18_S07 

＝ 

１０５ － ７８ 

１０５ － ７８ 

Next, calculate at the “o”. 

Subtract 8 from 10 

which was borrowed 

and add the remainder. 

2 + 5 = 7  

There are 9 sets of 10 

at the “t”. We can 

subtract 7 from 9. 

There is nothing at the “h”. 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



１ ０ ５ 
－    ７ ８ 

h      t       o 

T18_S07 

１ ０ ５ 
－    ７ ８ 

h      t       o 

１０５－７８ 

１５－８＝ ７ 

９－７＝２ 

１０５－７８ 

１ ０ ５ 
－    ７ ８ 

h      t       o 
１０５－７８ 

Let’s calculate 105-78 by vertical subtraction. 

We can’t subtract 8 from 5 at the “o”, but 

because the “t” is 0, we have to borrow 100 

from the “h” and get 10 at the “t”. 

Then we borrow 10 from 

the “t”, so cross out the 

small 10 and write 9. 

Now we have 15 at the “o” and 9 at the “t”. Let’s calculate both of them. 

We need to borrow 

until we can subtract. 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



１  ０  ５ 
－      ７  ８ 

１ ０ ２ 
－    ７ ６ 

１ ０ ５ 
－     ８ ７ 

１ ０ ４ 
－     ３ ６ 

１ ０ ６ 
－     ４ ９ 

１ ０ ７ 
－   ４ ８ 

Example  Solve.  
                   Cross out the number when it changes. 

Exercise  Solve.   
                   Cross out the number when it changes. 
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１０５－７８ １０５－７８ 

① １０２－７６ ② １０５－８７ ③ １０４－３６ ④ １０６－４９ 

⑤ １０７－４８ ⑥ １０８－７９ ⑦ １０５－６８ ⑧ １０１－８２ 

１ ０ ８ 
－  ７ ９ 

１ ０ ５ 
－  ６ ８ 

１ ０ １ 
－  ８ ２ 

１  ０  ５ 
－      ７  ８ 

Do NOT 
forget!! 

Good! 



１ ０ ２ 
－  ７ ８ 

１ ０ ８ 
－  ４ ９ 

１ ０ ３ 
－  ５ ８ 

１ ０ ４ 
－  ７ ６ 

１ ０ ５ 
－  ３ ９ 

１ ０ ６ 
－  ８ ７ 

１ ０ ３ 
－  ５ ５ 

１ ０ ２ 
－  ２ ７ 

１ ０ ７ 
－  １ ８ 

１ ０ ３ 
－  ６ ９ 

１ ０ ６ 
－  ４ ８ 

１ ０ ２ 
－  ８ ４ 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑨ １０３－５８ ⑩ １０２－２７ ⑪ １０４－７６ ⑫ １０５－３９ 

⑬ １０２－７８ ⑭ １０６－８７ ⑮ １０７－１８ ⑯ １０３－６９ 

⑰ １０６－４８ ⑱ １０２－８４ ⑲ １０８－４９ ⑳ １０３－５５ 



Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S07 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１０１－７２ １０３－７５ １０２－５８ 

１０５－４９ １０４－３５ １０４－６７ 

１０５－７８ １０５－７８ 

  

－           
 

－           

Do NOT 
forget!! 

Do NOT 
forget!! 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



    

       

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １０７－８８ １０５－６８ １０２－８３ 

１０８－４９ １０４－７５ １０６－５７ 

１０５－４８ １０１－５２ １０４－７９ 

h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 



１０５－７８ 

 
－           

Do NOT 
forget!! 

Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S07 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

１０５－６６ １０１－７２ １０２－４３ 

１０６－６８ １０５－３７ １０８－８９ 

Do NOT 
forget!! 

１０５－７８ １０５－７８ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S07 

１０１－２４ １０２－７３ １０６－４７ 

１０４－７５ １０３－８７ １０８－６９ 

１０５－５６ １０１－７４ １０７－７８ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

    

       

h       t           o h       t           o h       t           o 

h       t           o 

h       t           o h       t           o 

h       t           o 

h       t           o 

h       t           o 



１ ０ ３ 
－    ９ ７ 

T18_S08 

１０３－９７ 

The number of the ‘’t’’ is 

９－９ = ０.  This means 

１０３－９７ ＝６． 

１ ０ ３ 
－    ９ ７ 

h      t        o 

１０３－９７ 
h      t        o 

１３－７＝ ６ ９－９＝０ 

Let’s  do subtraction which the “t” of minuend is 0. 

Let’s calculate at the ‘’t” and ‘’o’’ 

We cross out 10 at the ‘’t’’ 

and write 9.  

We can’t subtract 7 from 

3 at the “o”, so borrow 

100 from the “h” and 

borrow 10 from the “t”. 

Good! 



１ ０ ３ 
－      ７ 

T18_S08 

１０３－７ 

１ ０ ３ 
－      ７ 

h      t        o 

１０３－７ 
h      t        o 

１３－７＝ ６ 

Let’s calculate at the “t” and “o”. 

We cross out 10 at the ‘’t’’ 

and write 9.  

There is no 

subtrahend at the ‘’t’’, 

so we write 9 as the 

answer. 

We can’t subtract 7 from 

3 at the “o”, so borrow 

100 from the “h” and 

borrow 10 from the “t”. 

Next, let’s subtract the number at the ‘’o’’. 

“o” means ● , “t” means × ,  “h” means ○ . 

Good! 



１  ０  ３ 
－      ９  ７ 

１ ０ ２ 
－    ９ ５ 

１ ０ ５ 
－    ９ ７ 

１ ０ ４ 
－    ９ ６ 

１ ０ ６ 
－    ９ ９ 

１ ０ ７ 
－     ８ 

Example   Solve.  
                   Cross out the number when it changes. 

Exercise  Solve.  
                   Cross out the number when it changes. 
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１０３－９７ １０３－９７ 

① ② ③ ④ 

⑤ ⑥ ⑦ ⑧ 

１ ０ ８ 
－    ９ 

１ ０ ５ 
－    ７ 

１ ０ １ 
－    ２ 

１  ０  ３ 
－      ９  ７ 

Do NOT 
forget!! 

１０２－９５ １０５－９７ １０４－９６ １０６－９９ 

１０７－８ １０８－９ １０５－７ １０１－２ 

Good! 



１ ０ ６ 
－    ９ 

１ ０ ８ 
－    ９ 

１ ０ ０ 
－  ９ ８ 

１ ０ ４ 
－  ９ ６ 

１ ０ ５ 
－  ９ ９ 

１ ０ ６ 
－    ７ 

１ ０ ３ 
－    ５ 

１ ０ ２ 
－  ９ ７ 

１ ０ ７ 
－    ９ 

１ ０ ３ 
－    ６ 

１ ０ ６ 
－    ８ 

１ ０ ２ 
－    ４ 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑨ ⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ ⑯ 

⑰ ⑱ ⑲ ⑳ 

１００－９８ １０２－９７ １０４－９６ １０５－９９ 

１０６－９ １０６－７ １０７－９ １０３－６ 

１０６－８ １０２－４ １０８－９ １０３－５ 



  
－           

Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S08 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

    

       

１０３－９７ １０３－９７ 

  

－           

Do NOT 
forget!! 

Do NOT 
forget!! 

１０１－９８ １０６－９９ １０２－９３ 

１０８－９ １０３－５ １０１－２ 

h       t           o h       t           o h       t           o 

h       t            o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



 ｃ      ｄ          ｕ 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １００－９９ １０５－９８ １０２－９５ 

１０６－７ １０１－６ １０４－７ 

１０２－９７ １０４－９５ １０３－９６ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o 

h       t           o h       t           o h       t           o 



  
－           

１０３－９７ 

Do NOT 
forget!! 

Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

T18_S08 

Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
① ② ③ 

④ ⑤ ⑥ 

Do NOT 
forget!! 

１０３－９７ 

１０４－９５ １０５－９ １０２－９４ 

１０１－９３ １０４－８ １０２－７ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ １００－９５ １００－９１ １０６－９８ 

１０３－６ １０３－８ １０５－７ 

１００－３ １０２－９ １０４－６ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



We can’t subtract 9 

from 3 at the “o”, so  

borrow 10 from the 

“t”. 

T18_S09 

２６３－９ 

The number at the ‘’t’’ is 5 . The number at  the ‘’h’’ remain as 2.  

２ ６ ３ 
－      ９ 

h      t        o 

Let’s subtract big number. 

２６３－９ 
h      t        o 

１３－９＝ ４ 

２ ６ ３ 
－      ９ 

We can write the 

number at ‘’h’’ and 

‘’t’’. They are still 2 

and 3. 

“o” means ● , “t” means × ,  “h” means ○ . 



We can’t subtract 9 

from 3 at the “o”, so  

borrow 10 from the 

“t”. 

T18_S09 

２６３－４９ 

The number at the ‘’h’’ is still  2. 

h      t        o 

Let’s subtract big number. 

２６３－４９ 
h      t        o 

１３－９＝ ４ 

We can write 2 at 

the “h”. 

５－４＝ １ 

２ ６ ３ 
－    ４ ９ 

２ ６ ３ 
－    ４ ９ 

5-4 at the ‘’t’’. 

“o” means ● , “t” means × ,  “h” means ○ . 



３ ６ ４ 
－        ７ 

５ ４ ５ 
－        ７ 

６ ３ ２ 
－        ９ 

４ ４ ３ 
－        ８ 

８ ７ ５ 
－   ３ ９ 

Example   Solve.  
                   Cross out the number when it changes. 

Exercise  Solve.  
                   Cross out the number when it changes. 
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２６３－９ ２６３－９ 

① ② ③ ④ 

⑤ ⑥ ⑦ ⑧ 

９ ６ １ 
－  ２ ７ 

７ ８ ３ 
－  ５ ９ 

２ ５ ４ 
－  ３ ６ 

２  ６  ３ 
－         ９ 

Do NOT 
forget!! 

２  ６  ３ 
－           ９ 

３６４－７ ５４５－７ ６３２－９ ４４３－８ 

８７５－３９ ９６１－２７ ７８３－５９ ２５４－３６ 

Good! 



５ ７ ５ 
－  ４ ７ 

５ ４ ３ 
－  ２ ８ 

２ ６ ６ 
－     ９ 

７ ６ ０ 
－     ６ 

９ ４ ５ 
－     ９ 

６ ８ ３ 
－  ５ ５ 

６ ４ ４ 
－  ２ ７ 

３ ５ ７ 
－     ８ 

３ ６ ７ 
－  １ ８ 

４ ３ ４ 
－  １ ９ 

７ ５ ２ 
－  ２ ９ 

８ ６ ０ 
－  １ ７ 

Exercise  Solve.  
                   Cross out the number when it changes. 
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⑨ ⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ ⑯ 

⑰ ⑱ ⑲ ⑳ 

３５７－８ ７６０－６ 

５７５－４７ ６８３－５５ ３６７－１８ 

９４５－９ ２６６－９ 

５４３－２８ ６４４－２７ 

４３４－１９ 

７５２－２９ ８６０－１７ 



Example   Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

２９４－６ １８３－５ ４２５－８ 

６５４－２７ ９４７－３９ ５８０－４３ 

２６３－９ ２６３－９ 

  

－           
 

－           

Do NOT 
forget!! 

Do NOT 
forget!! 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



Exercise  Solve. Make sure to write “－”  
                   Cross out the number when it changes. 
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⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ ３４７－２９ ７９６－６７ ２３０－１８ 

６５２－８ ４８０－７ ３９１－５ 

２３１－１９ ５９３－７６ ９４２－２９ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 



Example   Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 
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Exercise  Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 

① ② ③ 

④ ⑤ ⑥ 

７５２－２８ ８６４－４７ ４５６－４８ 

３６２－８ ６５０－６ ２８２－５ 

Do NOT 
forget!! 

２６３－９ ２６３－９ 

 
－           

Do NOT 
forget!! 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

“o” means ● , “t” means × ,  “h” means ○ . 



Exercise  Solve. Make sure to write “－” and the horizontal line. 
                   Cross out the number when it changes. 
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２７１－３４ ７５３－３６ ５４６－２７ 

２７５－８ ５６７－９ ８９２－５ 

３４３－２９ ３６２－４７ ６７０－５６ 

⑩ ⑪ ⑫ 

⑬ ⑭ ⑮ 

⑦ ⑧ ⑨ 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 

h       t           o h       t           o h       t           o 


